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Answer all the questions.

Write your Index Number in the space provided in the answer sheet.

Use of caleulators is not allowed.

Instructions are given on the back of the answer sheet. Follow those carefull.

kR

Who invented the Analytical Engine?
(1) Blaise Pascal (@) Charles Babbage
(@) John V. Atanasoff (5) John Presper Eckert

2. Which of the following technologies is used in the Second
(1) Integrated Circuits (ICs)  (2) Large Scale Integrat
(3) Microprocessors (@) Transistors.

3. .
(4) Scanner. (5) POS terminal.
4 mitted pulses are called
g (3) PETT scans.
(4) Ultrasound scans.
5. The binary number equivalent to
[ORN @ 111000 @) ojibut @ 101011 ) 11010
6. The abbreviation GSM_stands for
(1) Global System ile. Access () Global System for Mobile Communication.
fobile Ph (4) Global System for Mobile Transmission.
ile Tn ion.
7 types is widely used in computer applications?
hical  (3) Network (4) Relational  (5) Object oriented
8 in computer network is

load balancing between multiple wpmu networks.

d that can b usd 1o check neork comectivity o 8 computer is

onfig @ ping @) wmceoute  (4) nets (5) hostname

. Whih of the following best describe the order of th testing conducted in the software development process”
(1) Acceptance testing, integrated testing, unit testing.

(@) Integrated testing, acceptance testing, unit lmrm;

(3) Integrated testing, unit testing, acceptance testin

(4) Unit testing, acceptance testing, integrated testi

(5) Unit testing, integrated testing, acceptance teing

T see page o
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11. Which of the following is a classification of systems? ¥
(1) Close and hybrid @) Natural and structured (3) Open and close

(@) Open and structured (5) Structured and hybrid
12. A banking system could be best considered as a/an
(1) embedded system. ) enterprise resource planning system.
() expert system. (4) knowledge management system.

(5) wansaction processing system.
13. Which of the following best describes the home page of a website?
(1) The index of the website (@) The welcome page
(3) A description of the website (4) The first page of the website
(5) A web page that presents short journal entries
4. A munsger ofan enincring mamfucuing compny is considring whelher (o et mofeopeg
near future, What is the most relevant information in this case he has to consi

(1) Personnel records of all the employees
(@) Previous reports of all the recruited people J
(4) Detailed reports of engineering specifications and manufacturing orders

(5) Summary reports of present and projected personnel requirer

=
5
+
IS
I

W 23, @ FBC, ) FBB,, ) _08C,
‘What is the main function of a DHCP server?
addresses.

17. Consider the IP address 192.248.87.3 and the: 255.224. How many hosts can be directly|
ted 10 this network
W 16 @ 2 @ 64 © 128
18. What is the most suitable media video over a distance of 5 km?
(1) Radio waves

copper cables  (3) Fibre optics cables
les

(4) Coaxial cables
19. The transport layer of the OSI referei ides
(1) error comection. (@) routing of data packets.
£) oo i, (@) process-to-process communication.
©) emo X

program segment is syntactically correct?
@) total

2): for & dn ren u 12):
total = tota!
o gz e g
12): or i in range (1, 12)

total = total + i

0
for 4 in range (1,121
total = total + i

[ see page three



21 Consider the given flow chart:

(1) It stops when the user enters the value —1.

@) Tt stops when the user enters the value 5.

(3) It gives the message “You are very close.”
when the user eaters the value 9.

(@) It gives the message “You are very close.”
‘when the user eaters the value 6.

(5) 1f the value entered by the user is 8, it allows
the user o enter another value.

22. Which of the following statements best describes the result

(1) Hard disk data access speed is reduced. @
(3) Hard disk becomes toully inaccessible. @
(5) Number of bad sectors get increased.
[23. Consider the following statements about
A - Need more human resources the
- Retrieval of data is efficient than & system.
- Need more space 1o store,
 properly designed database?
D galy. @) B and C cnly.
‘and D agly.
lations A, B, C and D given below to answer the questions|
chool w develop a database to maintain Admission Number, Student Name,

d numBep(NIC) and the Date of Birth (DOB) of Advanced Level studeats. Thel
m.mmhndfnxﬁchmbjmby the students. In addition 10 the above|
10 know the subjects assigned 1o the teachers.

(4)  admissionNo, subjectCode, admissionNo and
(5) admissionNo, subjectName, admissionNo and subjectCode.

| see page four
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6. Wi of the following SOL statements would produce an otput with adiission numbr, ame of the studnt)
subject code and marks obtained?
(1) SELECT studentName, subjectCode, marksObiained
FROM Student, Mark
WHERE Student admissionNo = Mark.admissionNo
tadmissionNo,

@

N

(3) SELECT StudentadmissionNo, studentName, subjectCode, marksObtained
FROM Swdent, Mark
WHERE Student admissionNo = Mark admissionNo

(4) SELECT StudentadmissionNo, studentName, subjectCode, marksObtained
FROM Student, Mark
WHERE Student admissionNo = admissionNo

(5) SELECT StudentadmissionNo, studentName, subjectCode, marksObtained

FROM Student, Mark
'WHERE admissionNo = Mark.admissionNo
[27. Which of the following would be the result if the Boolean expressi )= +5) 1 simplified|
by using De Morgan's Law?
a x @y @ 0 @ 1
o

8

. Which of the following Boolean expressions represents the g

o (a+8)+(s+) @ (a+8)+(ac)
) (my(m) @ (ﬂ];
© (ﬁ]+(n.c)

129, Consider the following properties:
A - Density

Des
B - Capacity
C - Security
D - Cost

- Access time,

ing used as the main properties o classify differeat types of memory?
@A, B and C only. () B.D and E only.
‘A, B, D and E only.

@ A and C only. ; (3) Cand D only.
() D and E only.

the following statements:
A Customer can abai the sevicss while belbe is s it bttt
B - Payments can be made without using currency notes.
C - Customer is open to a large international service pmvldn base.
D - Service provider s open to a larger intemational customer base.
E - Security of payments are always guaranteed.
Which of the above arc advantages in e~commerce compared to traditional commerce?
) A, B and C only. @ A, B and D only. (3) A Cand D only.
@ A B, Cand D only. () B, C, D and E only.

1 see page five
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electronic payments.

C - At the time of placing the order for an item, the ideaiify of the customer should be established.
D - Service provider should provide on-line services.

E - Both the customer and the service provider should be in the same geographical region.

Which of the above items are esseatial in on-line ordering? .
(1) A and B only. @) A, B and C only. () A, B and D only.
@) A, C. D and E only. (5) B, D and E only.

33. Consider the following statements :-

A - Reading time from memory (atency) was assumed to be negligible.
B - Ulization of a hierarchical memory structure.

C - Inabilty 10 foresce the limitation of the processor clock frequency.

‘Which of the above prevented the technological advancement beyond the Voo N itecture?
M) A only. @ B only. ®c
@) Aand B oaly. () Aand C only.

4. Mmma—_
Guiding Tourists based on their current location.
Customization of automobiles.

(1) A and’B only.
@) A B and D only.

135. Consider the following items:
A - Object oriented
B - WAWI.wlm

c
D
E

.su-amui
- Waterfall

or create new services on the Intemet.

oaly. @) A Dand E only.
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38. Select the comect layout comesponding to the following code segment of an HTML document.

e
o
000
E

A - ndio
B - texarea .
C - selest
D - checkbox
E - texbox
Which of the sbove can go as st i in a form?
(1) A, B and C only. @) A, D and E only.

() B.C and D only.

. What i the correat syntax 1o be avaSeript into an HTML page’
@) <javascript Iul[lnns’mﬁlvump( >

@) <scripting language="javascipt™>

B - [ <l vension="10"7>
<studeats>

<zame age="18">Shashi Dias</name>
<regNa>A25849<rregNo>

students>

<xml version="1.0"%>

<students>

<pame age=18>Shashi Dias</name>
A25849</regNo>

</zxmb>
Which of e above scripts are syntactcally comrect?
(1) A and B oaly. @ Aand C oaly. () A and D oaly.
(4) B and C only. (5) C and D only.

[ see page sever
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[42. Consider the following statements about operating systems:
A - Ubuntu is an open source operuing system.
B - Windows XP is a proprietary operating system.
C - Linux is a proprietary operating system.
‘Which of the above statements is/are correct?

@) Aand B Only. () A and C Only.
143. Consider the following statements with respect to ER diagrams:
A - An ER diagram has entities and relationships.
B - Cardinality of all relationships should always be one-to-one.
C - Eniities may have attibutes.
D - There could be binary and tertiary relationships.
Which of the above statements are correct?
(1) A and D only. (2) B and C only. (3) B and
(@) A, Cand D only. () B, C and D only.
|44 Consider the following statements about language translators:
A - Interpreters convert the entire source program into object
B - Compilers convert the entire source program into object
C - Programs written in high level languages do not need
computer.
Which of the above statements is/are correct?

(1) A only.
@ Aand B only.

&

M A only.
4 Aad B oy,

(3) C only.

(2) C and E only.
() C, D and E only.

o sbove are syniacticlly comect Pythcn stmens?

@) B.D and E only. (%) C D and E only.

(1) A Only. @ B Only. (3) € onty.

(3) A, D and E only.

) A nd C only. 2 B and D only. (3) A, C and E only.

execute on a typical

[ see page eight
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Python program:

for k in xange (1, datacount) :

camp= data
et dacatx) - daca(h]
for i in range(datacount)

print (data(i])

S o e cuded 1 e Mk B 0 it
i

propam what would be he comeat of the file “oupeLaxt
@ wima1,30,60 O mml.20.609

Saman, 20,45 5,125
Tpali 100,80 T, 1008180

©) ina2,30,60,50.0 Saman, 80,45,135.0 Upa11, 100,80, 180.0

sz
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Important : For Examiners ’

¢ This question paper consists of 10 pages.

* This question paper comprises of two parts,
Part A and Part B. The time allotted for Part.

both parts is three hours. T

¢ Use of calculators is not allowed.

PART A— Structured Essay : |
(pages 02- 07)
Answer allthe questions on this paper itsef
Write your answers in the space provided
each question. Note that the space provided B9
is suffcient for your answers
sive anowers are not expecte
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PART B —Essay :

Code Numbers
Marking Examiner |
Marking Examiner 2
Marks checked by

1 see page o



1. (@ Stte the main tochnologies used i tho frst four gencratons of compute.

PRPTIE
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[ see page three



{¢) Show how the computation 5+ (3) is done in 8-bit two's complement arithmetic. Brphmbvw
you deal with the carry generated from the most significant bit.

2 (-)mmdgummmmmmmmm properties
the first column of the following table with 0 FA NTFS file systems.
s F, NTFS
PR 2 =
Maximum file name length imi limited/unlimited
Security yesho
‘Support of Unicode [ yesmo
() A computer has an 18-bit vi space where six bits are used for a page address.
() Calculate the total o by the above addressing scheme.

virtual memory address:
010111000000111100
the page and displacement (Offset) of this address?

[ see page four
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() Draw the operating system process transition disgraft”from process creation to termination.

3. Consider the following scenario.

Stadears in a school partcipat in iffernt sports
tennis, etc. The principal wants to maintsin a student name. home
address, class, and sparts be/she in more than one sport. For|
a particalar sport, there can be more than one.

of bours in 2 sport.

[ see page fin
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to-one, one-to-many,

Do ot
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is true or false. Explain your answer by using the given

[ see page six
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4. (2) Classify the following software as cither “sysiem software” or s “application software”

[

Software Classification I

—
Linux 14
Word Processor ] \
‘Web Browser

(%) Computer storage devices can be categorized into thee types based on the medium used to
Iretricve data. State the three types of media and give an example for cach type.

(©) The transaction file in & compuny's payroll system includes hours worked,
and a Department Encircle the most S e of e
data clements given in the following tabi.

Data clement
employee Nusber Presence i '/ Nomeric value
hours worked Presence’ table / Range check
deparument code i ‘master table / Range check
week umber 7 Rasge chock

(d) Describe the lideo. “Copyright”,

* %

1 see page eight



AL/2011/20/E-11

Mamwl = YT

ﬂ Dy A T B oo opeicrtecp § o S

eparmsent oF Exmindiin Ser Lanke Depts mmm elimmaions, S Lunka Depanmen
o = e, 201

wndu;dl B
s, QBTLIUTLD Q) wgll_l.llﬁllﬂ') ﬂ
formation & Communication Technology 1T

*® Answer any four questions only. L]
computer?

Part B
1. () What are the three (3) main components of a Central Processing Unit (CPU)
the. main functions of these three components.
(b) Briefly explain why storage compaction is needed in memory
(©) For a file of size 10400 bits, calculate the wastage in file s
cluster (Assume that a cluster has a size of 512 bytes)

@A d.g,m circuit takes four binary digits as an input, and produces 1 decimal value
the four binary digits is a prime be divided by itself|
D and  otberwse, Assume tht a1 four sy imal values (No bit is

allocated for the sign).
) The following truth table i designed to describe the hich A, B, C and D represent
b Gnican it and FA €. o

‘answer sheet as it is and complete|
the output column.

cEEBEE

=|=|=|=|o|o|e|o|=|~|-| =| o

[ =|o|o]=|~|o|a| | ~[¥ o
~|o|=|o|=|o|=|o]=|o|-| o

(i) Write a Boolean expression o represent the logic function of the above circuit in the sum of products
form.

(i) Design a logic circuit for the Boolean expression you have obtained for the above part (ii).

1 see page nine
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(b) Identify each of the following as cither an clement or an atribute and describe their functionlity.
@® br ) href i) st @) hm /

(r)mmmﬁmmwmlmdlw&wdxmmmymﬂ

2. () Describe the terms “clements” and “attributes” with respect to an HTML document. W

£ Most Visited b Getting Started 5 Latest Headlines i
_ wiast |31
TS . (
| Wildlife Tours te Sri Lanka
Sri Lanka is famous for its wildlife. There a ny
parks and Sanctuaries where one can i in their |,
natural habitat.

@ WadsL - Mol Fector 0 BRI [EEr===)
ﬁﬂhmmlﬂﬂ# ‘
K'kn’ C. X ‘wildSUhtmi R L

Answer the followinghquestions asing the sbove figure.
i ] paragraphs of the sbove HTML documen in ‘-rm font, 14 font

ur. Write the required CSS code segment for the para

wing the following tag in the above HTML Fk

jpg*><img src = *elephants_tnl.jpg"

width = *288cn" height = *156cm* |

HTML code segment to create the collection of three radio buttons labelled as “Blue Whale'.|
¢ and “Elephant’ as ppeared in the sbove HTML document.

) The company wants o 3dd a table showing the rates as given below with the caption “Wild Sei|
Lanka’, 10 the above HTML Document.

Write HTML code segment 10 create the table.

[ see page ten
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3 () Yore ‘heen asked 1o design two physically separated networks, namely A and B, each having exactly
0 computers. The IP addresses of A and B networks are 10.32.5.0 and 10.32.6.0 respecively. It s requircd
o computers in the two networks must be able (0 communicate with each other.
i) Suggest a suitable subnet mask for each of these networks.
i) Name the device required to connect these two physical networks to communicate with cach
(iif) Draw a network diagram for the above network and assign suitable IP addresses for the devi
in these two networks.
(®) () Compare TCP and UDP protocols in terms of reliability.
(ii) Peer-to-peer (P2P) and client-server models are distributed application architectures. State. the
difference between them.
(iii) List the differences between hubs and switches in a network.
4. () Wentify and describe the phases of the waterfall model in software development.
(®) Describe functional and non functionl requirements of a system. Identify two f al and three
functional requirements for a mobile phone.
* (c) Describe the purpose of unit, integrated and acceptance testing. Who are ! Sponsible for cach|
testing process’
(@ Suppose you are planning 1o buy a new mobile phone and woul ciigfty. Describe,
how Black Box testing can be used in this process.
5. (a) Explain the necessity of program translators in computeefp
(b) Give two main features for each of the First-Generation| ration programming languages.
(©) Give three main flow control structures used in a strud ng language. Show how these
flow control structures can be represente o

ive integers 1o their equivalent binary
e value 0. The program has both symactic

. but they are used 10 reference the fnes.

(@) The following Python program i intended to
e

with synw:lic errors and state the error.
gram should be changed and state how they should be chznged 10 obain|

Business (0 Consumer (B2C) and Consumer (0 Consumer (C20) in e-commerce
Chairman of a company i and
to Employee) application. Being an ICT S ecoument Rt appropriate 100l with reasons.
(@ In the domain of Agent technology, explain the term *Agent’.

(i) Give two main characteristics of an Agent.

(il Briefly explain an example where Agent technology could be used effectively.

®)

EE xS
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